
9.6 Gauss- Jordan Elimination

8 Augmented matrices for systems

we get  t i red of  wr i t ing the x,y i t  so te
amarge the coefficiento of x,y, 7 into a
matrix called the augmented matrix:

Exi
3 x - 2 y  + 5 7 = 2 1 7 1 3 2 5 2 1
5 x t  4 y =37 5 4 37

x - 2 y - 5 7 = 5 - 2 -5 5

? we can use all the same now ops we did
for the full egns since the aug. makit are those

coefficients

@ Stratesy of Gaussian Eliminati

# # # ' ' # peform
rowops # #  #

# #  # # # #
# #  # # 0  0 # #

We w r i t e  t h e m a t r i x  a s .
sys tem w i t h  X , y ,  7  a n d  =
a n d

sighs
B a c k  s u b s t i t a t e

*  Gauss -Jo rdan  E l im ina te w e  p r o c e e d  t o  o b l i n

t h i s t o r m
0 0 = x=

rowOps # # # y = # y=* /

0 ? 0 # z = *



@ Elementang Now Ops

Lies mult. arow by acoust: ar) ? (ar;))
(eci) mult, a row by a constant and add lo

another row, replacing the latter row
with the results.

a l r i )  t r i  ?  r i



E x !  S o l v e 3 + + 1 - 2 7 = 7

2 x + 2 y + z = 9
= x +37=61
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¿ )  a u g m e n t ( i i )  r o w  o p e r s .
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Back Subst

o r
J o r d a n

E l im in

=  2

105741|  ?
( i c i )  e g n .  s p a c e

=  - 2
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z  = 3

(ir) (x, 1,7) = (-2,5,3)


